Logic Design Assignment 01

Answer
1.
Convert the following decimal numbers to binary;

(a)  27
=16+8+2+1
=24+23+21+20
=11011(b)#
(b) 139
=128+8+2+1
=27+23+21+20
=10001011(b)#
(c) 0.875
=0.5+0.25+0.125
=2-1+2-2+2-3        =0.111(b)#
(d) 3.375
=2+1+0.25+0.125
=21+20+2-2+2-3   =11.011(b)#
(e)
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2.
Perform the following subtractions of hexadecimal numbers in the 2’s complement form:
(a)  FA – DE

ans:
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(b) DA – AD
     ans:
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 (c) 81 – F1
     ans:
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3.
Perform the following using the method of binary number multiplications:

(a) 
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(b) 
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(c) 
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4.
Perform the following division of binary numbers:

(a)  
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(b) 
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